

SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution)
Coimbatore— 35

DEPARTMENT OF MATHEMATICS

UNIT-IV CORRELATION AND SPECTRAL DENSITIES

Cross correlation: A cross correlation of a two Random Processes X(4) & y(t) is defended by, $R_{xy}(\tau) = E[x(t) \ y(t+\tau)]$ $R_{yy}(\tau) = E[y(t) \cdot x(t+\tau)]$ 1. If x(t) and y(t) are was process, then $R_{XY}(-\tau) = R_{YX}(\tau)$ Ploof: WHT $R_{xy}(\tau) = E[x(t) \cdot y(t+\tau)]$ Now, $P_{xy}(-\tau) = E[x(t) y(t-\tau)]$ Take $t-T=t_1 \Rightarrow t=t_1+T$ $R_{xy}(-\tau) = E[x(t, +\tau) y(t,)]$ = E [y(t,) x(t,+c)] $R_{xy}(-e) = R_{yx}(e)$ 2. If X(t) and Y(t) are use places, then Rxx(TC) = JRxx(O) Ryx(O) PROOF: By cross correlation. $R_{xy}(\tau) = E[x|t) y|t+\tau J$ By schwartz graquality peoperty. TE(XY) = E(X2) · E(Y2) 1et X= X(t), Y= Y(t+t) F[x(+))/(++) = E[x2(+)]. E[y2(++c)] [Rxy(t)] = E[xa(t)] E[ya(t+t)] : E[ye(++T)]= E[ye(t)]



SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution)
Coimbatore— 35

DEPARTMENT OF MATHEMATICS

UNIT-IV CORRELATION AND SPECTRAL DENSITIES

$$[R_{xy}(t)]^{2} \leq E[x^{2}(t)] \cdot E[x^{2}(t)]$$
By Prep. (1), $\Rightarrow E[x^{2}(t)] = R_{xx}(0)$

$$E[y^{2}(t)] = R_{yy}(0)$$

$$\vdots [R_{xy}(t)]^{2} \leq R_{xx}(0) \cdot R_{yy}(0)$$

$$R_{xy}(t) \leq \int_{R_{xx}} R_{xx}(0) \cdot R_{yy}(0)$$

F. Conceder two R.P. $x(t) = 3 \cos(\omega t + \theta)$ and $y(t) = 2 \cos(\omega t + \phi)$, where $\phi = \theta - \frac{\pi}{2}$ and θ is cust formly distributed Flandom variable over $[0, 2\pi)$. Verify that $|R_{xy}(t)| \leq \sqrt{R_{xx}(0)} \cdot R_{yy}(0)$ $|R_{yy}(0)| = \sqrt{R_{xx}(0)} \cdot R_{yy}(0)$

PDF
$$f(\theta) = \begin{cases} \frac{1}{2\pi}, & 0 \le \theta \le 2\pi \\ 0, & \text{otherworke} \end{cases}$$

Then
$$P_{XX}[t,t+T) = E[X(t) \times (t+T)]$$

$$= E[9\cos(\omega t+\theta)\cos(\omega t+\omega t+\theta)]$$

$$= \frac{9}{2} E[2\cos(\omega t+\omega t+\theta) \cdot \cos(\omega t+\theta)]$$

$$= \frac{9}{2} E[2\cos(\omega t+\omega t+\theta) \cdot \cos(\omega t+\omega t+\theta)]$$

$$= \frac{9}{2} \cos(\omega t) + \frac{9}{2} E[\cos(2\omega t+\omega t+2\theta)]$$

$$= \frac{9}{2} \cos(\omega t) + \frac{9}{4\pi} \int_{0}^{2\pi} \cos(2\omega t+\omega t+2\theta) d\theta$$

$$= \frac{9}{2} \cos(\omega t) + \frac{9}{4\pi} \left[\frac{2\pi}{2} \left[\frac{2\pi}{2} \left(2\cos(2\omega t+\omega t+2\theta) \right) \right] d\theta$$

$$= \frac{9}{2} \cos(\omega t) + \frac{9}{4\pi} \left[\frac{2\pi}{2} \left[\frac{2\pi}{2} \left(2\cos(2\omega t+\omega t+2\theta) \right) \right] d\theta$$

- of areas provided that the problem with the con-

the state of the contract of t

$$R_{xx}(\tau) = \frac{9}{2} \cos \omega \tau$$



SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution)
Coimbatore— 35

DEPARTMENT OF MATHEMATICS

UNIT-IV CORRELATION AND SPECTRAL DENSITIES

$$Y(t) = \underbrace{\text{mos}}_{(\omega t + \Phi)} (\omega t + \Phi)$$

$$= \underbrace{\text{mos}}_{(\omega t + \Phi - W_R)}$$

$$= \underbrace{\text{mos}}_{(\omega t + \Phi)} (\omega t + \Phi)$$

$$Y(t) = \underbrace{\text{mos}}_{(\omega t + \Phi)} (\omega t + \Phi)$$

$$\vdots \quad R_{yy}(t, t + \tau) = \underbrace{\text{E}[y(t)}_{(t)} Y(t + \tau)]}_{\text{ex}}$$

$$= \underbrace{\text{R}[\text{E}[\text{mos}}_{(\omega t + \Phi)} - \Phi]_{(\omega t + \omega \tau + \Phi)]}_{\text{ex}}$$

$$= \underbrace{\text{R}[\text{E}[\text{mos}}_{(\omega t + \Phi)} - \Phi]_{(\omega t + \omega \tau + \Phi)]}_{\text{ex}}$$

$$= \underbrace{\text{R}[\text{R}[\text{mos}}_{(\omega t + \Phi)} - \Phi]_{(\omega t + \omega \tau + \Phi)]}_{\text{ex}}$$

$$= \underbrace{\text{R}[\text{R}[\text{mos}}_{(\omega t + \Phi)} - \Phi]_{(\omega t + \omega \tau + \Phi)]}_{\text{ex}}$$

$$= \underbrace{\text{R}[\text{R}[\text{R}[\text{mos}}_{(\omega t + \omega \tau + \Phi)} - \Phi]_{(\omega t + \omega \tau + \Phi)]}_{\text{ex}}$$

$$= \underbrace{\text{R}[\text{R}[\text{R}[\text{mos}}_{(\omega t + \omega \tau + \Phi)} - \Phi]_{(\omega t + \omega \tau + \Phi)]}_{\text{ex}}$$

$$= \underbrace{\text{R}[\text{R}[\text{R}[\text{mos}}_{(\omega t + \omega \tau + \Phi)} - \Phi]_{(\omega t + \omega \tau + \Phi)}_{\text{ex}}]_{\text{ex}}$$

$$= \underbrace{\text{R}[\text{R}[\text{R}[\text{mos}}_{(\omega t + \omega \tau + \Phi)} - \Phi]_{(\omega t + \omega \tau + \Phi)}_{\text{ex}}]_{\text{ex}}}_{\text{ex}}$$

$$= \underbrace{\text{R}[\text{R}[\text{R}[\text{mos}}_{(\omega t + \omega \tau + \Phi)} - \Phi]_{(\omega t + \omega \tau + \Phi)}_{\text{ex}}]_{\text{ex}}}_{\text{ex}}$$

$$= \underbrace{\text{R}[\text{R}[\text{R}[\text{mos}}_{(\omega t + \omega \tau + \Phi)} - \Phi]_{\text{ex}}_{\text{ex}})_{\text{ex}}}_{\text{ex}}$$

$$= \underbrace{\text{R}[\text{R}[\text{R}[\text{mos}}_{(\omega t + \omega \tau + \Phi)} - \Phi]_{\text{ex}}_{\text{ex}})_{\text{ex}}}_{\text{ex}}$$

$$= \underbrace{\text{R}[\text{R}[\text{R}[\text{mos}}_{(\omega t + \omega \tau + \Phi)} - \Phi]_{\text{ex}}_{\text{ex}})_{\text{ex}}}_{\text{ex}}$$

$$= \underbrace{\text{R}[\text{R}[\text{R}[\text{mos}}_{(\omega t + \omega \tau + \Phi)} - \Phi]_{\text{ex}}_{\text{ex}$$

Let x(t) & y(t) & defined by x(t) = A cos w + B sin w t and y(t) = B cos w + A sin w t where w is a constant and h, B are independent n. vs. both baving zero mean problem of x(t) & y(t).

Are x(t) & y(t) forntly wss process?